Algebra 1: Unit 2: Notes: Linear Inequalities

Lesson 2: Solving multi-step inequalities
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with your budget of $40, you and your friends decide to leave a 20% tip. What would be the most that your bill
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How much could EACH person’s meal be, including tax?
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Ex1: Solve the linear inequality. Graph the solution set, and expriss 'isf;;i a13 > 42
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Algebra 1: Unit 2: Notes: Linear Inequalities

Ex2: Solve the linear inequality. Graph the solution set, and express in set notation.

. 4(3t——-5)+7>8t+3
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Ex3: Define a va nable, wnte an mequahty, and solv

e the mequahty Graph the solutlon set and express inset -

notation. -~ - T
a. Five minus sixtimesa number is more than four

times the number plus forty-five.

b. The sum of twice a number and 11 is 1ess than or

=

equal to the difference of five times a number and 4.
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Exit ticket: You and

and you plan to brmg 520. You want to leave a

____friends go out to dinner. You tell everyone to bring $10 for the bill

____tip. What is the mostyour er could be

mcludmg tax so you aren’t left paymy more than $20? *
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